ig

SmallR

Cage for Nikon Z50 Il

JEEE Z50 || fRfRIE

m
Jm
L
L
~
=
8
5
o)
c




- Thank you for purchasing SmallRig's product.
RBHERBE SmallRig &3,
- Please read this Operation Guide carefully.

ERAF R, BFAARRIEES.

- Please follow the safety warnings.
EERA SR RIDOEERRIEESINAEES.

In the Box / 133

Cage
RRAE

Operating Instruction

BAEES|

x 1 Guarantee Card
REF

x1 Screen Protector
MIEE

Specifications / FFRE#

x 1

x ]

Product Dimensions | 5.6 x 2.4 x 4.2in
FRRY 141.8 x 62.0 x 106.6mm
Product Weight 4.7 +0.20z

FREE 1340+50g
Material(s) Aluminum Alloy
EEMER 2a%

Compatibility Nikon Z50 1I

FRAM RE 75011

Specifications subject to change without prior notice. Please refer to the physical
product for the most up-to-date information.

BASHMENE, UEMNE BRBTEN.




Product Details / =R 4A

@ Cold Shoe Mount @ 1/4"-20 Locating Hole - @ Arca-Swiss Quick
b3 1/4"-20 FEAIFL Release Plate
PR AU BREAR
@ ARRI 3/8"-16 Locating Hole ® Strap Slot QD Socket
PISTEAIAL BH/EEEO QD#EA
® 1/4"-20 Threaded Hole ® NATO Rail @ Double Head Wrench
1/4"-20 124505 R WELIRF

Installation Instructions / 355

@ Put the camera into the cage from the back.
BB EERTARRIE,




@ Use the double head wrench to secure the cage by tightening the
1/4"-20 screw.
BEWELIRFITERER1/4"-20 1822, BIEEERRBIE,

@ Use the double head wrench to loosen the M3 screws on the
locating blocks on both sides, then slide down and tighten the
M3 screws to secure the camera to the cage.
FYUSLIRF RSO B EIREIM3ELL, (FiBm TIBEE R RL,
FAFEERREFE.

* The package does not include the camera.

NS FESE




Manufacturer: Shenzhen Leqji Innovation Co., Ltd.
Add: Rooms 103, 501 and 601, Building 5, Fenghe Industrial Park, Nos. 1301-50 Guanguang
Road, Longhua District, Shenzhen, Guangdong, China.

HIER: R RECHRBERAS

ik PERERYIHRERD
103, 501. 601

Consignor. Shenzhen LC Co., Ltd
Add: Rooms 602, Building 5, Fenghe Industrial Park, No. 1301-50 Guanguang Road, Xinlan
Community, Guanlan Street, Longhua District, Shenzhen, Guangdong, China.
EE R RKRHEEIRAT

bt PERERYI TR RNURETEATR KW 1301-50 SEAT

IAATHRAE: GB/T 26572-2011

RoHS (€ ® & &
&

55 51

BT XEEE 1301-50 SFFITY

755 5 1 602

FR

[—]
LETRI TS g9
QFAqL lﬂ '.: PEFIE

Séparez les éiéments avant de trier Made in China




LQ-P1405-18

SmallRig

—FREEYOUR DREAM—




